EARAROBEEIERT — 2 N— IBISH —F

20185F8A3H (&) ImEHMH6H

NN C2- H5%3m®L (xwlw | mEmml - v 5 o 8
[AE4£] 1% :350,000 " ~ 23%&:98,000H" 33 :49,000 437 :35000 M .~ 57&:28,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= > 4| BFREE 1:32.0 2-2-1-1 | 40.4| — 2 484 | BAREHR ()
1 : RBP4 ) o () | BN
RiAfvavk—5— B:TrpA4¥—TL>F AEKE
— N KIIEE :32. —-6-2- . — HEM—RR (EH)
2 12| N=—A3H—I i 54.0 1(73%:? 622 403 8 tg; Eaég
RO—VXA LA B:H¥v—OaH—I BEZ 2 Y K
s e 4 5 | AHE= 1:32.2 4-3-6-4 | 40.4| — 1 484 | BEHES (ER)
sl 2| TP INT 5.0 (3/4) (s | . Tr—xhEVa
YL KYIYRIR BiHFRATUL e
5 oo hE&T ] 12-10- — VHIEt (EE)
a1l |71E=95F7 it 4 SHK 1(.13/22.)3 12-12-10-5 | 39.0 8 (3_5;5) g%\%ﬁ
LZRNAF 21— B T7AE— AR
S e > 6 | FHH— 1:33.0 5-5-3-3 |41.3| — 6 490 | =EEBEZ (ER)
57|10 >RV EY X > = = G | Tz reva
LYK YIYRIR BHF— g IFa—> PEUL )
615537 k7o #10 | MERAF 1:(343).7 6-8-7-8 |41.6| — 1 458 (Em)
QAT AL F =T BIRYA TS © BB
A AT . _7_a_ — SHEIE (EH)
7 4 T7—<AY—T 47 = 1(73?{:? 9-7-8-7 | 41.7 7 ‘2(6)? ;
LiLXa1T—A2NN— B:IZRFNRAT
\ # 4 | BTE— 1:33.9  |[11-11-11-11{ 41.0 | — | 12 | 500 |®AFE (FEk)
sy 7|+ - 5.0 (1/2) Lo |BUIEE
Rt /A7A4 BiAVYAN—3I1—X LI 4577 —L4
. s .33 _9-0- ) _ AR (FEhR)
olgli1| 77V /7 b4 it 5 hEe 1(/3:;? 8-9-9-10 | 41.5 5 3(,223 o
LY II2H7 04— B:HII35-Ta ke
S e o8 | WH#EX 1:35.4 3-4-4-6 |43.8| — 4 548 | REES (EH)
10/5|6| 7XNT1 KT 56.0 © Cay | W) 77—z hEVar
g AFS 0 ML BZTF AT — K HET7— L
S SRS > 4 | WEER 1:35.9 10-10-12-12| 42.9 | — 10 | 483 |EBAIEXR (EA)
1 g | TryrzES KL “ ] s @ Gy |8 A=y haEs
v TNVRry b BiI-Y 2 REZY ESiTie]
s I 5 # 3 | HEEK 1:36.5 1-1-5-9 | 45.0| — 9 417 | ALEFESL (FEH)
127/ 9| FEYIAI—Fv> 54.0 31/2) o |EE#HZ
RHIRT 4GSR BTk 7Y e
@ 1—F—@&BIEf
i3=3r= 9,3,6,2,10,5,12,11,4,8,7,1
Aol=5r= 9,3,2,6,10,12,4,5,11,8,7,1
30—7+— 3,12,10,6,9,2,5,4,11,1,7,8
41 —F— 3,12,10,2,1,6,4,5,9,11,7,8
[ RN
B OB 3 260/ 714K 3-12 160M e & 3-8 260/ &R 2-3-12 1,080
8 B 3 100M 2-3 370 B & 3-12 330 JEH 3-12-2 3,230
12 120 2-12 560M B H 3-12 530
2 1509

ABICOVWTRDTEEERROODE. TR LIV,




